# Volterra Integral Equations as Functional Differential Equations on Infinite Intervals

G. F. WEBB (Received April 28, 1976)

#### 1. Introduction

Our objective is to treat the nonlinear functional differential equation

(1.1) 
$$\dot{x}(t) = f(t, x(t)) + F(t, x_t), \qquad t \ge s \ge 0$$
$$x(s) = h \in H, \qquad x_s = \phi \in L^p(-r, 0; H)$$

by means of the theory of nonlinear evolutions in Banach spaces. The notation of (1.1) means that H is a Hilbert space,  $1 \le p < \infty$ ,  $0 < r \le \infty$ ,  $x: (s-r, \infty) \to H$ ,  $f: [0, \infty) \times H \to H$ ,  $F: [0, \infty) \times L^p(-r, 0; H) \to H$ , and  $x_t \in L^p(-r, 0; H)$  is defined by  $x_t(\theta) = x(t+\theta)$  for  $-r < \theta < 0$ . The equation (1.1) may be formulated as the abstract ordinary differential equation

(1.2) 
$$du(t)/dt = -Au(t) - B(t, u(t)), \qquad t \ge s \ge 0$$
$$u(s) = x \in X$$

in the Banach space  $X \stackrel{\text{def}}{=} L^p(-r, 0; H) \times H$ . The notation of (1.2) means  $u: [s, \infty) \to X$ ,  $A: X \to X$  such that -A is the infinitesimal generator of a strongly continuous semigroup of linear operators in X, and  $B: [0, \infty) \times X \to X$  such that  $B(t, \cdot)$  is nonlinear. By converting (1.1) to the form (1.2), we will be able to take advantage of the extensive theory which has been developed in recent years for nonlinear evolution equations of the form (1.2). The special semi-linear form of (1.2) will allow us to state explicitly the relationship between the solutions of (1.1) and (1.2).

There is a growing literature associated with the treatment of functional differential equations as abstract ordinary differential equations in function spaces, and some recent papers on this subject are listed in our references. Our work continues the investigations of [17], [18], and [19], where (1.1) was treated with F independent of t and  $r < \infty$ . In the present study we will allow the case that  $r = \infty$ , so that we may treat nonlinear Volterra integral equations of the form

This research was supported in part by the National Science Foundation Grant NSF-MPS 75-06332.

(1.3) 
$$x(t) = y(t) + \int_0^t g(t - \tau, x(\tau)) d\tau, \qquad t \ge 0.$$

The semigroup approach to linear Volterra equations has been explored in [1], [3], and [13]. As an application of our theory we will obtain new stability information for the equation (1.3).

## 2. An abstract theorem

For a Banach space X the duality mapping  $J: X \rightarrow 2^{X*}$  is defined by

(2.1) 
$$j \in J(x)$$
 iff  $\langle x, j \rangle = ||x||^2 = ||j||^2$  for  $x \in X$ .

The (nonlinear) operator  $A: X \rightarrow X$  is accretive iff

(2.2) for all 
$$x, y \in D(A)$$
 and some  $j \in J(x-y)$ ,  
 $\langle Ax - Ay, j \rangle \geq 0$ .

THEOREM 2.1. Let X be a Banach space and let  $\omega$  be a real constant. Let  $A: X \to X$  such that -A is the infinitesimal generator of a strongly continuous semigroup of bounded linear operators T(t),  $t \ge 0$  in X. Let  $B: [0, \infty) \times X \to X$  such that B is continuous, everywhere defined, and maps bounded sets into bounded sets. Let  $A+B(t,\cdot)+\omega I$  be accretive for each  $t \ge 0$ . Then for each  $x \in X$  and  $s \ge 0$ , there exists a unique continuous function  $u: [s, \infty) \to X$  satisfying

(2.3) 
$$u(t) = T(t-s)x - \int_{s}^{t} T(t-\tau)B(\tau, u(\tau))d\tau, \qquad t \ge s.$$

If we define U(t, s)x = u(t) as in (2.3), then the family of (nonlinear) operators U(t, s),  $t \ge s \ge 0$  satisfies

- (2.4) U(s, s)x = x;
- (2.5)  $U(t, s) = U(t, r)U(r, s), t \ge r \ge s;$
- (2.6) U(t, s)x is continuous as a function in t for x and s fixed and  $t \ge s$ ;
- $(2.7) \quad \|U(t,s)x U(t,s)y\| \le e^{\omega(t-s)} \|x y\| \quad \text{for } t \ge s \ge 0 \quad \text{and} \quad x, y \in X.$

If, in addition, B is of the form B(t, x) = C(x) + c(t) and C(0) = 0, then

$$(2.8) ||U(t,s)x|| \le e^{\omega(t-s)}||x|| + \int_{s}^{t} e^{\omega(t-\tau)}|c(\tau)|d\tau, t \ge s \ge 0, x \in X.$$

The equation (2.3) is the integrated form of equation (1.2). Several authors

have treated the existence problem for equation (2.3), among them [6], [11], [12], [14], and [16]. The version of Theorem 2.1 which we have stated here is slightly different from those found in the above references, but may be established readily using the methods of these references.

# 3. Functional differential equations as abstract ordinary differential equations

Let H be a Hilbert space with norm  $| \ |$  and inner-product (,). Let  $1 \le p < \infty$ ,  $0 < r \le \infty$ , and let  $\alpha \in \mathbb{R}$ . We will formulate equation (1.1) as equation (2.3) in the Banach space

(3.1) 
$$X \stackrel{\text{def}}{=} L^p(-r, 0; H; \mu) \times H, \text{ where } d\mu(\theta) \stackrel{\text{def}}{=} e^{-p\alpha\theta} d\theta, \text{ with norm}$$
$$\|\{\phi, h\}\| \stackrel{\text{def}}{=} \left(\int_{-r}^0 |\phi(\theta)|^p e^{-p\alpha\theta} d\theta + |h|^p\right)^{1/p}.$$

The introduction of the weight function  $e^{-p\alpha\theta}$  in the norm of X will allow us to obtain stability information about the solutions of (1.1). The duality mapping for X is given by

(3.2) if 
$$\{\phi, h\} \in X$$
, then  $j \in J(\{\phi, h\})$ , where j is defined at  $\{\psi, k\} \in X$ 

by 
$$<\{\psi,k\}, j> = \|\{\phi,h\}\|^{2-p} \Big(\int_{-r}^{0} (\psi(\theta),\phi(\theta))|\phi(\theta)|^{p-2}e^{-p\alpha\theta}d\theta + (k,h)|h|^{p-2}\Big)$$

(see [17], Proposition 2.1). We will let  $\pi_1$  and  $\pi_2$  be the projections on X defined by  $\pi_1\{\phi, h\} = \phi$  and  $\pi_2\{\phi, h\} = h$ .

We require the following hypotheses on f and F in (1.1):

- (3.3)  $f: [0, \infty) \times H \to H$  such that f is continuous, maps bounded sets into bounded sets, and for each  $t \ge 0$ ,  $-f(t, \cdot) + \gamma I$  is accretive in H, where  $\gamma$  is a real constant;
- (3.4)  $F: [0, \infty) \times L^p(-r, 0; H; \mu) \to H$ , where  $p \ge 1$ ,  $\alpha \stackrel{\text{def}}{=} \gamma + 1/p$ ,  $d\mu(\theta) \stackrel{\text{def}}{=} e^{-p\alpha\theta} d\theta$ , F is continuous, F maps bounded sets into bounded sets, and for each  $t \ge 0$ ,  $F(t, \cdot)$  is Lipschitz continuous with Lipschitz constant  $\le \beta$ ,  $\beta$  some positive constant.

Let X be defined as in (3.1) and define  $A: X \rightarrow X$  by

(3.5)  $D(A) = \{ \{\phi, h\} \in X : \phi \text{ is absolutely continuous on bounded intervals of } (-r, 0], \phi' \in L^p(-r, 0; H; \mu), \text{ and } \phi(0) = h \}$ 

$$A\{\phi, h\} = \{-\phi', 0\}$$
 for  $\{\phi, h\} \in D(A)$ .

Define  $B: [0, \infty) \times X \to X$  for all  $t \ge 0, \{\phi, h\} \in X$  by

(3.6) 
$$B(t, \{\phi, h\}) = \{0, -f(t, h) - F(t, \phi)\}.$$

The proposition which follows establishes that A and B as defined above satisfy the hypothesis of Theorem 2.1. In the proof we will use the following elementary inequality:

(3.7) 
$$ab^{p-1} \le w(p)(a^p + b^p), \ a \ge 0, \ b \ge 0, \ p \ge 1, \text{ where } w(p) = (p-1)^{1/q}/p$$
 if  $p > 1$ ,  $1/p + 1/q = 1$ , and  $w(p) = 1$  if  $p = 1$ .

PROPOSITION 3.1. Let (3.3) and (3.4) hold, let X be defined as in (3.1) with  $\alpha = \gamma + 1/p$ , let A be defined as in (3.5), let B be defined as in (3.6), and let  $\omega = \alpha + w(p)\beta$ .

Then the hypothesis of Theorem 2.1 is satisfied.

**PROOF.** For  $t \ge 0$  define the linear operator T(t) in X as follows:

(3.8) 
$$(\pi_1 T(t) \{ \phi, h \})(\theta) = \phi(t+\theta) \quad \text{for a. e. } \theta \in (-r, -t)$$
$$(\pi_1 T(t) \{ \phi, h \})(\theta) = h \quad \text{for a. e. } \theta \in (-t, 0)$$
$$\pi_2 T(t) \{ \phi, h \} = h.$$

It is easily verified that T(t),  $t \ge 0$  is a strongly continuous semigroup of bounded linear operators in X. We will show that -A is the infinitesimal generator of T(t),  $t \ge 0$ . Let  $A_1$  be the infinitesimal generator of T(t),  $t \ge 0$ . If  $\lambda$  is real and sufficiently large, then for all  $\{\phi, h\} \in X$ 

(3.9) 
$$(\lambda I - A_1)^{-1} \{ \phi, h \} = \int_0^\infty e^{-\lambda s} T(s) \{ \phi, h \} ds$$

(see [4], Theorem 11, p. 622). From (3.8) we have for a.e.  $\theta \in (-r, 0)$ ,

(3.10) 
$$\left(\pi_1 \int_0^\infty e^{-\lambda s} T(s) \{\phi, h\} ds\right) (\theta)$$

$$= \int_0^{-\theta} e^{-\lambda s} \phi(s+\theta) ds + \int_{-\theta}^\infty e^{-\lambda s} h ds$$

$$= \int_0^0 e^{\lambda(\theta-s)} \phi(s) ds + he^{\lambda\theta} / \lambda, \text{ and }$$

$$\pi_2 \int_0^\infty e^{-\lambda s} T(s) \{\phi, h\} ds = h / \lambda.$$

Define  $K: X \to X$  by  $K\{\phi, h\} = \{\lambda \phi - \phi', \lambda h\}$  with D(K) = D(A). Using (3.9) and (3.10) we see that  $(\lambda I - A_1)^{-1}K = I$  on D(A) and  $K(\lambda I - A_1)^{-1} = I$  on X.

Thus,  $K = \lambda I - A_1$ , which implies that  $A_1 = -A$ .

From (3.3) and (3.4) it is clear that B is continuous, everywhere defined, and maps bounded sets into bounded sets. It remains to show that  $A+B(t,\cdot)+\omega I$  is accretive for each  $t\geq 0$ . Let  $\{\phi_1, h_1\}, \{\phi_2, h_2\} \in D(A)$ , let  $\phi=\phi_1-\phi_2$ , let  $h=h_1-h_2$ , and let  $j\in J(\{\phi,h\})$  as in (3.2). Then, using an integration by parts and (3.7), we obtain

$$<(A+B(t, \cdot))\{\phi_{1}, h_{1}\}-(A+B(t, \cdot))\{\phi_{2}, h_{2}\}, j>$$

$$= \|\{\phi, h\}\|^{2-p} \left(\int_{-r}^{0} (-\phi'(\theta), \phi(\theta)) |\phi(\theta)|^{p-2} e^{-p\alpha\theta} d\theta + (-f(t, h_{1}) - F(t, \phi_{1}) + f(t, h_{2}) + F(t, \phi_{2}), h) |h|^{p-2}\right)$$

$$= \|\{\phi, h\}\|^{2-p} \left(\int_{-r}^{0} -(1/p) d/d\theta |\phi(\theta)|^{p} e^{-p\alpha\theta} d\theta + (-f(t, h_{1}) - F(t, \phi_{1}) + f(t, h_{2}) + F(t, \phi_{2}), h) |h|^{p-2}\right)$$

$$\geq \|\{\phi, h\}\|^{2-p} \left(\int_{-r}^{0} (1/p) |\phi(\theta)|^{p} (-p\alpha e^{-p\alpha\theta}) d\theta + (-f(p) |\phi(0)|^{p} - (\gamma|h|^{2} + \beta \|\phi\|_{L^{p}(-r,0;H;\mu)} |h|) |h|^{p-2}\right)$$

$$= \|\{\phi, h\}\|^{2-p} \left(-\alpha \|\phi\|_{L^{p}(-r,0;H;\mu)}^{p} - \alpha |h|^{p} - \beta \|\phi\|_{L^{p}(-r,0;H;\mu)} |h|^{p-1}\right)$$

$$\geq \|\{\phi, h\}\|^{2-p} \left(-\alpha - w(p)\beta\right) \|\{\phi, h\}\|^{p}$$

$$= -\omega \|\{\phi, h\}\|^{2},$$

and the proof is complete.

By virtue of Theorem 2.1 there is a unique solution  $u(t) = U(t, s) \{ \phi, h \}$  to (2.3). Our goal will be to show that the solution x(t) to (1.1) is given by

(3.11) 
$$x(t) = \phi(t-s) \quad \text{for a. e. } t \in (s-r, s)$$
$$x(t) = \pi_2 U(t, s) \{ \phi, h \} \quad \text{for } t \ge s.$$

We must first establish a certain "translation property" of the function x(t).

PROPOSITION 3.2. For  $\{\phi, h\} \in X$ ,  $t \ge s \ge 0$ , and  $x: (s-r, \infty) \to X$  as in (3.11),

(3.12) 
$$x_t = \pi_1 U(t, s) \{ \phi, h \}.$$

PROOF. If we can establish

(3.13) 
$$(\pi_1 U(t, s) \{ \phi, h \})(\theta) = \phi(t - s + \theta)$$
 for a.e.  $\theta \in (-r, s - t)$ 

(3.14) 
$$(\pi_1 U(t, s) \{\phi, h\})(\theta) = \pi_2 U(t + \theta, s) \{\phi, h\}$$
 for a.e.  $\theta \in (s - t, 0)$ ,

then (3.12) will follow immediately. Let  $k: [s, \infty) \to H$  be the continuous function  $k(t) = f(t, \pi_2 U(t, s) \{\phi, h\}) + F(t, \pi_1 U(t, s) \{\phi, h\})$ . Using (3.8) we observe that

(3.15) 
$$\int_{s}^{t} \pi_{1} T(t-\tau) \{0, k(\tau)\} d\tau$$

$$= \int_{s}^{t} (\pi_{1} T(t-\tau) \{0, k(\tau)\} \chi_{(-r,\tau-t)} + \pi_{1} T(t-\tau) \{0, k(\tau)\} \chi_{(\tau-t,0)}) d\tau$$

$$= \int_{s}^{t} (0 \chi_{(-r,\tau-t)} + k(\tau) \chi_{(\tau-t,0)}) d\tau$$

$$= \int_{s}^{t} k(\tau) \chi_{(\tau-t,0)} d\tau.$$

Then, for a.e.  $\theta \in (-r, s-t)$ , (3.13) follows from (2.3), (3.8), (3.15), and

$$(\pi_1 U(t, s) \{\phi, h\})(\theta)$$

$$= (\pi_1 T(t-s) \{\phi, h\})(\theta) + \left(\int_s^t \pi_1 T(t-\tau) \{0, k(\tau)\} d\tau\right)(\theta)$$

$$= \phi(t-s+\theta) + \left(\int_s^t k(\tau) \chi_{(\tau-t,0)} d\tau\right)(\theta)$$

$$= \phi(t-s+\theta) + 0.$$

Also, for a. e.  $\theta \in (s-t, 0)$ , (3.14) follows from (2.3), (3.8), (3.15), and

$$(\pi_1 U(t, s) \{\phi, h\})(\theta)$$

$$= (\pi_1 T(t-s) \{\phi, h\})(\theta) + \left(\int_s^t \pi_1 T(t-\tau) \{0, k(\tau)\} d\tau\right)(\theta)$$

$$= h + \left(\int_s^t k(\tau) \chi_{(\tau-t,0)} d\tau\right)(\theta)$$

$$= h + \int_s^{t+\theta} k(\tau) d\tau$$

$$= \pi_2 T(t+\theta-s) \{\phi, h\} + \int_s^{t+\theta} \pi_2 T(t+\theta-\tau) \{0, k(\tau)\} d\tau$$

$$= \pi_2 U(t+\theta, s) \{\phi, h\}.$$

Proposition 3.3. Let f satisfy (3.3), let  $p \ge 1$ , let  $\alpha = \gamma + 1/p$ , let X be

defined as in (3.1), let F satisfy (3.4), and let  $\omega = \alpha + w(p)\beta$ . If  $\{\phi, h\} \in X$  and  $s \ge 0$ , then the unique solution of (1.1) is given by (3.11). Moreover, if  $\{\phi, h\}$ ,  $\{\hat{\phi}, \hat{h}\} \in X$ , and x(t),  $\hat{x}(t)$  satisfy (1.1) for  $\{\phi, h\}$ ,  $\{\hat{\phi}, \hat{h}\}$ , respectively, then for  $t \ge s$ 

$$|x(t) - \hat{x}(t)| \le e^{\omega(t-s)} \|\{\phi, h\} - \{\hat{\phi}, \hat{h}\}\|,$$

$$||x_t - \hat{x}_t||_{L^p(-r,0;H;\mu)} \le e^{\omega(t-s)} ||\{\phi, h\} - \{\hat{\phi}, \hat{h}\}||.$$

Finally, if f, F are of the form  $f(t, h) + F(t, \phi) = \hat{f}(h) + \hat{F}(\phi) + c(t)$ , where  $\hat{f}(0) = 0$  and  $\hat{F}(0) = 0$ , then the solution x(t) of (1.1) satisfies

$$|x(t)| \le e^{\omega(t-s)} \|\{\phi, h\}\| + \int_{s}^{t} e^{\omega(t-\tau)} |c(\tau)| d\tau, \qquad t \ge s,$$

$$(3.19) ||x_t||_{L^{p(-r,0;H;\mu)}} \le e^{\omega(t-s)} ||\{\phi, h\}|| + \int_s^t e^{\omega(t-\tau)} |c(\tau)| d\tau, t \ge s.$$

**PROOF.** Using (2.3), (3.8), and (3.12), we have that for  $t \ge s$ 

$$x(t) = \pi_2 U(t, s) \{\phi, h\}$$

$$= \pi_2 T(t-s) \{\phi, h\} - \int_s^t \pi_2 T(t-\tau) B(\tau, U(\tau, s) \{\phi, h\}) d\tau$$

$$= h + \int_s^t (f(\tau, \pi_2 U(\tau, s) \{\phi, h\}) + F(\tau, \pi_1 U(\tau, s) \{\phi, h\})) d\tau$$

$$= h + \int_s^t (f(\tau, x(\tau)) + F(\tau, x_\tau)) d\tau.$$

Since f and F are continuous,  $\dot{x}(t) = f(t, x(t)) + F(t, x_t)$  for  $t \ge s$ . Further, x(s) = h and  $x_s = \pi_1 U(s, s) \{\phi, h\} = \phi$  by (2.4). The estimates (3.16), (3.17), (3.18), and (3.19) follow directly from (2.7) and (2.8).

REMARK 3.1. The family of evolution operators U(t, s),  $t \ge s \ge 0$ , describes the evolution of the solution x(t) of (1.1) in the sense that  $\{x_t, x(t)\} = U(t, s)\{\phi, h\}$ . The estimates (3.16) and (3.17) yield the continuous dependence of the solutions of (1.1) upon the initial data  $\{\phi, h\}$ .

# 4. An application to nonlinear Volterra integral equations

As an application of the preceding development we will treat the nonlinear Volterra integral equation (1.3). We make the following assumptions on the nonlinear kernel  $g: [0, \infty) \times H \rightarrow H$ :

(4.1)  $g(0, \cdot)$  is continuous, maps bounded sets into bounded sets, and  $-g(0, \cdot)$ 

 $+\gamma I$  is accretive in H, where  $\gamma$  is some real constant;

- (4.2) g is continuous, g is differentiable with respect to its first variable,  $g_1$  is continuous, and there is a real-valued function b on  $[0, \infty)$  such that  $|g_1(t, h) g_1(t, k)| \le b(t) |h k|$  for  $t \ge 0$ ,  $h, k \in H$ ;
- (4.3) for some  $p \ge 1$  and  $\alpha \stackrel{\text{def}}{=} \gamma + 1/p$ , either  $\left(\int_0^\infty (b(s)e^{-\alpha s})^q ds\right)^{1/q} \stackrel{\text{def}}{=} \beta < \infty$  if p > 1, or ess  $\sup_{s>0} b(s)e^{-\alpha s} \stackrel{\text{def}}{=} \beta < \infty$  if p = 1 (where 1/p + 1/q = 1).

PROPOSITION 4.1. Let  $g: [0, \infty) \times H \to H$  satisfy (4.1)–(4.3) and let  $\omega \stackrel{\text{def}}{=} \alpha + w(p)\beta$ . If  $g_1(t, 0) = 0$  for  $t \ge 0$  and  $y: [0, \infty) \to H$  is continuously differentiable, then there is a unique solution x(t) to equation (1.3). If, in addition, g(0, 0) = 0,  $\omega \le 0$ , and

$$\lim_{t\to\infty}\int_0^t e^{\omega(t-\tau)}|\dot{y}(\tau)|d\tau<\infty,\quad then\quad x(t)\quad is\ bounded\ on\quad [0,\ \infty)\,.$$

**PROOF.** Define f(h) = g(0, h) for  $h \in H$  and define  $F(t, \phi) = \dot{y}(t) + \int_{-\infty}^{0} g_1(-\tau, \phi(\tau))d\tau$  for  $(t, \phi) \in [0, \infty) \times L^p(-\infty, 0; H; \mu)$ , where  $d\mu(\theta) = e^{-p\alpha\theta}d\theta$ . By virtue of (4.1) f satisfies (3.3) and by virtue of (4.2), (4.3), and the continuity of  $\dot{y}$ , F satisfies (3.4). Thus, we can apply Proposition 3.3 and the unique solution x(t) of (1.1) is given by (3.11). If we take s = 0 and  $\{\phi, h\} = \{0, y(0)\}$ , then the hypothesis that  $g_1(t, 0) = 0$  for  $t \ge 0$  yields

$$\begin{split} \dot{x}(t) &= f(t, x(t)) + F(t, x_t) \\ &= g(0, x(t)) + \dot{y}(t) + \int_0^t g_1(t - \tau, x(\tau)) d\tau \\ &= d/dt (y(t) + \int_0^t g(t - \tau, x(\tau)) d\tau) \,. \end{split}$$

Since x(0) = h = y(0), x(t) is also the unique solution of (1.3). The last statement of the proposition follows from (3.18).

REMARK 4.1. Suppose C is a linear operator from H to H (possibly unbounded) and  $\lambda$  is in the resolvent set of C. Let  $\hat{y}: [0, \infty) \to H$  and  $\hat{g}: [0, \infty) \times H \to H$  such that  $y \stackrel{\text{def}}{=} (\lambda I - C)^{-1} \hat{y}$  and  $g \stackrel{\text{def}}{=} (\lambda I - C)^{-1} \hat{g}$  satisfy the hypothesis of Theorem 4.1. The equation (1.3) becomes

$$\lambda x(t) = Cx(t) + \hat{y}(t) + \int_0^t \hat{g}(t-\tau, x(\tau))d\tau.$$

Proposition 4.2. Let  $g: [0, \infty) \times H \rightarrow H$  satisfy (4.1)-(4.3), let  $\omega \stackrel{\text{def}}{=} \alpha +$ 

 $w(p)\beta$ , and let  $d\mu(\theta) = e^{-p\alpha\theta}d\theta$ . If  $y: [0, \infty) \to H$  is continuously differentiable and for  $t \ge 0$ 

$$(4.4) \dot{y}(t) = \int_{-\infty}^{0} g_1(t-\tau, \phi(\tau))d\tau for some \phi \in L^p(-\infty, 0; H; \mu),$$

then there is a unique solution to (1.3). If, in addition, g(0, 0)=0,  $g_1(t, 0)=0$  for  $t\geq 0$ , and  $\omega < 0$ , then the solution x(t) of (1.3) converges exponentially to 0 as  $t\to\infty$ .

PROOF. Define f(h) = g(0, h) for  $h \in H$  and define  $F(t, \phi) = \int_{-\infty}^{0} g_1(-\tau, \phi(\tau))d\tau$  for  $(t, \phi) \in [0, \infty) \times L^p(-\infty, 0; H; \mu)$ . As in the proof of Proposition 4.1 f and F satisfy (3.3) and (3.4), respectively. Again we may apply Proposition 3.3 to obtain a unique solution x(t) to (1.1) given by (3.11). If we take  $\{\phi, h\} = \{\phi, y(0)\}$ , where  $\phi$  is as in (4.4), then the argument of Proposition (4.1) demonstrates that x(t) also satisfies (1.3). The last statement of the proposition follows from (3.16), using the fact that the solution of (1.1) with  $\{\phi, h\} = \{0, 0\}$  is  $x(t) \equiv 0, t > -r$ .

REMARK 4.2. If (4.1)-(4.4) are satisfied, then the family of evolution operators U(t, s),  $t \ge s \ge 0$ , is actually a semigroup of operators, S(t),  $t \ge 0$ , where U(t, s) = S(t-s). This observation follows from the fact that B is autonomous, that is,  $B(t, \{\phi, h\}) = \{0, -f(h) - F(\phi)\}$  does not depend on t. In this case we have that the evolution of the solutions of (1.3) is given by  $\{x_t, x(t)\} = S(t) \{\phi, y(0)\}, t \ge 0$ .

### References

- [1] V. Barbu and S. I. Grossman, "Asymptotic behavior of linear integrodifferential systems," Trans. Amer. Math. Soc., 173 (1972), 277-287.
- [2] D. W. Brewer, "A nonlinear semigroup for a functional differential equation," thesis, University of Wisconsin-Madison, 1975.
- [3] J. A. Burns and T. L. Herdman, "Adjoint semigroup theory for a Volterra integrodifferential system," Bull. Amer. Math. Soc., 81 (1975), 1099-1102.
- [4] N. Dunford and J. Schwartz, Linear Operators, Part I, Interscience, New York, 1957.
- [5] J. Dyson and R. Villella Bressan, "Functional differential equations and nonlinear evolution operators," Edinburgh Jour. Math. 75 A, 20 (1975/76), 223-234.
- [6] W. Fitzgibbon, "Time dependent perturbations of linear accretive operators," to appear.
- [7] W. Fitzgibbon, "Stability for abstract nonlinear Volterra equations involving finite delay," to appear.
- [8] R. Grimmer and G. Seifert, "Stability properties of Volterra integrodifferential equations," Jour. Diff. Eqs., 19 (1975), 142-166.
- [9] J. Hale, "Functional differential equations with infinite delays," Jour. Math. Anal. Appl. 48 (1974), 276-283.

- [10] A. Ize and A. Freiria, "Asymptotic behavior and nonoscillation of Volterra integral equations and functional differential equations," Proc. Amer. Math. Soc., 52 (1975), 169-177.
- [11] R. Martin, "Nonlinear perturbations of linear evolution systems," to appear.
- [12] K. Maruo and N. Yamada, "A remark on integral equations in a Banach space," Proc. Japan Academy, 49 (1973), 13-16.
- [13] R. K. Miller, "Linear Volterra integrodifferential equations as semigroups," Funkcial. Ekvac., 17 (1974), 39-55.
- [14] N. Pavel, "On an integral equation," Rev. Roum. Math. Pures et Appl., 19 (1974), 237-244.
- [15] A. T. Plant, "Nonlinear semigroups of translantions in Banach spaces generated by functional differential equations," to appear.
- [16] G. F. Webb, "Continuous nonlinear perturbations of linear accretive operators in Banach spaces," Jour. Functional Analysis, 10 (1972), 191–203.
- [17] G. F. Webb, "Functional differential equations and nonlinear semigroups in  $L^p$ -spaces," Jour. Diff. Eqs., 20 (1976), 71-89.
- [18] G. F. Webb, "Linear functional differential equations with  $L^2$  initial functions," Funkcial. Ekvac., to appear.
- [19] G. F. Webb, "Numerical approximation of nonlinear functional differential equations with  $L^2$  initial functions," to appear.

Department of Mathematics, Vanderbilt University, Nashville, Tennessee 37235